HE

TAE 172, 21,11,48:23

I=ESE TELMET

ARE R} oracle

a8 e Ausrbings 1 =term s —display $DISPLAY

HlALAL:

# # # #4# # ## # # ;I
A # R # A

## £ ## 0 OFE
£ #¥ #E ## £ ## A

1]

i O O il

[hoedBl02] oracle:himed/oracled Ausr/bing=11 term -ls

-d
| ;Ij

) |

Xmanager 25 X
4%% Cannot establish any listening sockets - Make sure an ¥ server 5
'-._8-' isn't already running i
A= 02
=
HERZ
e
L Pl L] 172211148 -
Iw;j J = (R
[ M M), (3 AFRID) < |
ap ] = |1?2.21.H.t18 ‘ﬂ T
zZ=2e2; |TELMNET -]  &=E..
MET ||:|rat:le
SIZE:  |Password ~|  EEE.
22 B2 [fusr/bin/KT1/xterm -Is ~display $DISPLAY ]
B =l
[v T2 & EF HHZICT L= E=EH)




